AB[QIZA Al €2 OIEAA

[ =]

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

E&IX, ElRIB

ks

HE &9:

A SRME HEHSZ sl HF AXI7E Hst= WS YXIst7|
I8 AHSE LICH

= HHE 180° =2 &2 Elo| el /IXIZ Sotet 3 IRXIE #HE
E* —"‘— AAELICE

22 MA &2 &3 Hi7h o] fIxlof nEElo{ &F Elo| el IRz &
ot2 4EfE RXIStT=F ELICH

ok i

THE!:

EH2 Hl 1.4308.

Lw &cle & &Z El1.4305.
ofad Axmal1.4310.

PA &7tad &= HE A

HEM Ol

LIAL &2lE, 3 A3l Al Z42M &3 i

Ha= #, ot & XedM ot
CteFst Aizto| ZF 2 Hf ZH:

- B2 M RAL 1021.
-AME S WA RAL 3020.
- A" =M RAL 6032.

- A& S mEHM RAL 5017.
- Q18 3|A4 RAL 7035.
E:

= Elo| el *IXIZ 013,
SCtAE A2 &3 H HE ™Y = A&LITH
2 =

| H=x ol- | |.QEI|__||:|.

°-'.'A1IA1EI:
Bjo|& 2 & K0638.
EZXIME 2A K1290, K1839, K1840.

www.kipp.com - info@kipp.com 1/2



o
2 H|QIA AE K2} OlHIA ZR1X], EIR] B
=N
L1
|
KD) 1 )
| 7/ |
Sw1
i >
-J 1
™ |
-~
Sw2
w |
| | D_—g,gg I
D1
S - = —
A
o
E=S Y%
FEHS El2l D D1 D2 L L1 L3 B B1 H F x 30° SW1 SW2 NESS EtAd
EbAd =2
F1 2 N F2 2. N
K1680.1050410 B 4 M10 10 38,5 25 15 9 3 6 1 10 17 8 14
K1680.1050510 B 5 M10 10 38,5 25 15 9 3 6 1,3 10 17 8 14
K1680.1050610 B 6 M10 10 38,5 25 15 9 3 6 1,8 10 17 8 14
K1680.10504101 B 4 M10x1 10 38,5 25 15 9 3 6 1 10 17 8 14
K1680.10505101 B 5 M10x1 10 38,5 25 15 9 3 6 1,3 10 17 8 14
K1680.10506101 B 6 M10x1 10 38,5 25 15 9 3 6 1,8 10 17 8 14
K1680.1050512 B 5 M12 12 474 30 19 10,8 3,6 8 1,3 12 19 8 15
K1680.1050612 B 6 M12 12 474 30 19 108 3,6 8 1,8 12 19 8 15
K1680.1050812 B 8 M12 12 474 30 19 108 3,6 8 2,3 12 19 8 15
K1680.10505121 B 5 M12x1,5 12 474 30 19 10,8 3,6 8 1,3 12 19 8 15
K1680.10506121 B 6 M12x1,5 12 474 30 19 108 3,6 8 1,8 12 19 8 15
K1680.10508121 B 8 M12x1,5 12 474 30 19 108 3,6 8 2,3 12 19 8 15
K1680.1050616 B 6 M16 16 61,2 40 26 144 48 10 1,8 16 24 15 35
K1680.1050816 B 8 M16 16 61,2 40 26 144 48 10 2,3 16 24 15 35
K1680.1051016 B 10 M16 16 61,2 40 26 144 4,8 10 2,8 16 24 15 35
K1680.10506161 B 6 M16x1,5 16 61,2 40 26 144 48 10 1,8 16 24 15 35
K1680.10508161 B 8 M16x1,5 16 61,2 40 26 144 48 10 2,3 16 24 15 35
K1680.10510161 B 10 M16x1,5 16 61,2 40 26 144 48 10 2,8 16 24 15 35
K1680.1050820 B 8 M20 20 71 50 30 18 6 12 2,3 20 30 20 60
K1680.1051020 B 10 M20 20 71 50 30 18 6 12 2,8 20 30 20 60
K1680.1051220 B 12 M20 20 71 50 30 18 6 12 3 20 30 20 60
K1680.10508201 B 8 M20x1,5 20 71 50 30 18 6 12 2,3 20 30 20 60
K1680.10510201 B 10 M20x1,5 20 71 50 30 18 6 12 2,8 20 30 20 60
K1680.10512201 B 12 M20x1,5 20 71 50 30 18 6 12 3 20 30 20 60

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



